CLASS : 12th (Sr. Secondary) Code No. 5609
Series : S.S.-March/2022
Roll No. SET : A

IS TSI
BUSINESS STUDIES
AT -1
PART -1
(st Tg)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)
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ge-9= & AR # i ® : A1 (STES) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% X B AU IO YR # @ 81 99 -0 B OAFEL A BN W Ied S-gRas
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BN & % geT qd qdemel S I 0 gs-0 Rar smem

-1 % 997-09 & F 14 U7 @& 9FHI & T9-T § FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § GRT T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.
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(2) 5609/(Set : A)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & 7T FRa &
All questions are compulsory.
(i) HEOF T B 9fF 39% TET @9 T 8
Marks of each question are indicated against it.

(iii) Fo7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S FT &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.
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(3) 5609/(Set : A)
(iv) o7 G 11 §F 12 & FT09 597 81 9% Fo7 4 o %7 &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 G 13 §F 14 &9 Fa0T F97 & 9% F97 6 STH F & T §77 AaRE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y I 999 ]
[ Very Short Answer Type Questions ]

1. fquoe @ & fheil & ol ol it feeeer € 2
Explain in brief any two elements of Marketing Mix.

2. RuoF o fosp § #i3 & o= i 2
Write any two differences between Marketing and Selling.

3. ‘Maw geet ol W s wfge fewel i 2
Write a short note on 'Investment Decision'.

4. focia RS @ &1 i & 7 2
What is meant by Financial Planning ?

5. ‘gde T UL 317 36D T& H d gF % ST 2
"Management as a profession." Give any one argument in its favour.

6. USY % His & Al H U HiT 2
Explain any two functions of Management.

7. ‘eI & fRdl @ A<l Bl HET § Ay 2
Briefly state any two elements of 'Directing'.

8. IREROT & FE @ AeT TR 2
State any two importance of Motivation.

9. freEmr @l FE & €AW wETEy 2

Discuss any two limitations of Control.

5609/(Set : A/ | P.T.O.
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10.

11.

12.

13.

14.

(4) 5609/(Set
“9=1T % HaeAIS HE B1” HIE

"Controlling is a pervasive function." Explain.

[ @Y ST 9% ]
[ Short Answer Type Questions ]

e @ ufthar & fFEl gre T=eN @ aui it

Explain any four steps in planning process.

AR & Bl e adl &1 G o i)

Explain in brief any four elements of Delegation.

[ € ST 999 ]

[ Long Answer Type Questions ]

TS & TGl P Hewd &Y H gHeey|

Explain briefly the importance of Management Principles.

YqT
OR

BT A & el &7v Rl bl aui it
Explain any four principles of Henry Fayol.

HHER T TR & bl & XN & aui iy

Explain any six steps involved in the process of selection of Employees.

3TeET
OR

Wil & fhel & 9 Eidl @ |@EY H e i)

Explain in brief any six external sources of Recruitment.

5609/(Set : A)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5609
Series : S.S.-March/2022

Roll No. SET : A
D ST

BUSINESS STUDIES
AT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o U Tq F A [ G F 3T FIT-T § JET 7% 16 T 797 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff o1y T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § Fig 4 @@ &@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 art &

All questions are compulsory.

5609/(Set : A)/ I P.T.O.
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(2) 5609/(Set : A)
(i) 797 &% 1 & 40 T TGS J97 &1 FAF FoT 1 o F & TE FAC HTA
gee-giar 4 e

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

() 3 (B) orged
©) 9% (D) |rffe
Management is a ............ force.

(A) Visible (B) Invisible

(C) Separate (D) Collective

2. yEe e e 2 (@&l 7)1

Management is an inexact science. (True/ False)

3. T 1
(A) TH R
(B) T Sk
(C) TH WU
(D) 3™ & F3 Tl
Management is :
(A) An Activity
(B) A Process
(C) A Tradition

(D) None of these

5609/(Set : A)/ I

Downloaded from cclchapter.com



(3) 5609/(Set : A)

4. UFEH T & [Q - S a9 o 7 1
(A) o HMHo
(B) THo HiHo
(C) THo dlo To
(D) ™ § ®iE T
Which degree is required to become a manager ?
(A) B. Com.
(B) M. Com.
(C) M.B.A.

(D) None of these

5. Mgk T§e IR A ... T B 1
(A) (B) &
© (D) =g
Staffing is the ............ stage of the management process.
(A) First (B) Second
(C) Third (D) Fourth

6. TRYEET FhAT B I HIA b T B9 & FA ... i B =iy 1
(A) (B)
(C) d= (D) =)
At least ........... people is/peoples are required to complete communication
process.
(A) One (B) Two
(C) Three (D) Four

5609/(Set : A)/ I P.T.O.
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(4) 5609/(Set : A)

7. =1 7 @ -9 g9 H FE 7@ 7 1
(A) RS (B) fwgferieRTer
(©) e (D) & & #E &
Which of the following is not a function of management ?
(A) Planning (B) Staffing
(C) Co-operating (D) None of these
8. ifa-Fmior g #d & ? 1

(A) 7w g @

(B) WeH &Y TSEH

(C) =T &K JeeH A

(D) S @t

Policy formation is the function of :
(A) Lower level managers

(B) Middle level managers

(C) Top level managers
(

D) All of the above

9. Isfih FEe & e & § 7 1
(A) S S0 X
(B) BT ®A
(C) Tho T=o &
(D) & & K Tl
Who is father of Scientific Management ?
(A) George R. Terry
(B) Henry Fayol
(C) F.W. Taylor
(D) None of these

5609/(Set : A)/ I
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(5) 5609/(Set : A)

10. 3sh Yee -1 qRadH o & ? 1
(A) BIF qRExE
(B) SRS IREdH
(C) e gRadH
(D) A TRE
What changes does scientific management bring ?
(A) Fashion change
(B) Production change
(C) Economic change

(D) Mental change

11. B0 %4 o1, O ¢ 1
(A)  THISE AsTD
(B) T SR
(C) @R
(D) S SR
Henry Fayol was a :
(A) Social Scientist
(B) Mining Engineer
(C) Accountant

(D) Production Engineer

5609/(Set : A)/ Il P.T.O.
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12.

13.

14.

(6) 5609/(Set

Tho =go TACY

() FER SR

(B) ®IST AsTieh

(C) HebiveheT ZofifraX

(D) & SR

F. W. Taylor was :

(A) Computer Engineer
(B) Social Scientist

(C) Mechanical Engineer

(D) Mining Engineer

=1 & @ f-a1 Fae #1 9B 7@ 2 7

(&)  HEHH B) FrEm

(C) W= (D) el
Which of the following is not the type of Planning ?

(A) Programme (B) Rule

(C) Product (D) Procedure
R R Bl

(A) eyt (B) &

(C) 3e (D) SWH & | &5 el
Planning is ............. .

(A) Flexible (B) Permanent
(C) Rigid (D) None of these

5609/(Set : A)/ I
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(7) 5609/(Set : A)

15. 1s0rrms0r00ss, T8 BT HAUR & B 1
(A)  €TeH (B) =
(C) e (D) T & FE T
,,,,,,,,,,,,,,,,, is the primary function of management.
(A) Organizing (B) Control
(C) Planning (D) None of these
16. AT 96 &l .......... 4 1
(A)  TIH (B) faam
© (D) =g
Planning is the .......... function of management.
(A) First (B) Second
(C) Third (D) Fourth
17. TR O 96 © 1
(A) R
B) R
(©) ard®
(D) FH & g T

Planning is a process :
(A) Periodical

(B) Continuous

(C) Annual

(D) None of these

5609/(Set : A)/ Il P.T.O.
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18.

19.

20.

21.

e & AFs o1rg B

Planning is a mental exercise.

e LT & fohae SN Ieg & 7

A @ B) =

(C) IR (D) i MivEq d@en @
How many types of organization structure ?

(A) Two (B) Three

(C) Four (D) Number not fixed

Y T g wed o i Al ¥ °

() ST (B) SHIT=RE

(©) (A) T (B) (D) & & Big Tl
Group norms are part in which of the following ?

(A) Formal (B) Informal

(C) Both (A) & (B) (D) None of these
I8 HST G e & & ?

() o=

(B) SIT=®

(© (&) w (B) I

(D) & & K Tl

Which organization opposes/resists change ?
(A) Formal

(B) Informal

(C) Both (A) & (B)

(D) None of these

5609/(Set : A)/ I
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(True/ False)

1



(9) 5609/(Set : A)

22. T% I=9 ISR & o1 Tefieedt @ G Fear & ¢ 1

(A) FEET rAE

(B) T

(C) w&g 1 fa&X

(D) W 2

The number of subordinates under a higher officer is called :
(A) Office Environment

(B) Tight Control

(C) Span of Management

(D) Scalar Chain

23. = § § BIF-81 ARG H T 78 © 1
(A) IR
(B) tfEEpR
(C) ST=RE T
(D) SO
Which of the following is not an element of delegation ?
(A) Accountability
(B) Authority
(C) Informal Organization
(D) Responsibility

5609/(Set : A)/ Il P.T.O.
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(10) 5609/(Set : A)

24. f@=RHcr 718 ? ’
(A) AR FH TR &Y
(B) WM % &g &9
(C) ARMY & Heg &Y
(D) & & K Tl
What is Decentralization ?
(A) Narrow form of delegation
(B) Wide form of delegation
(C) Moderate form of delegation

(D) None of these

25. s & afta 7@ © ¢ 1
(A) =TI
(B) HfRrEroT
(C) e
(D) &I
Which of the following is not included in staffing ?
(A) Selection
(B) Training
(C) Direction
(D) Promotion

5609/(Set : A)/ I
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(11) 5609/(Set : A)

26. = § § FYRRIHOT & T -1 & 7 1

(A)
(B)
(C)

(D)

il

FIq
IR
SR G+l

Which is the element of staffing ?

Recruitment
Selection
Training

Above all

27, FA TH v ufsear 31 (@rlt @7 9RT) 1

28. HHIASE qeeT H e ® 1

(A)
(B)
(€)

(D)

oy qe
ey e

BRG]
S Gl

Psychological tests include :

(A)
(B)
(C)
(D)

5609/(Set

Interest test
Aptitude test
Intelligent test

All of the above

:A) I P.T.0O.
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(12) 5609/(Set : A)

29. = § FRed # o S99 8 ? 1
(A) @R
(B) SRR
(© (&) T (B) &
(D) e
Which of the following is an element of Direction ?
(A) Communication
(B) Motivation
(C) Both (A) & (B)

(D) Organization

30, .o Hifeeh SR & &I B 1
(A) aE
(B) 9
(C) Te-gur
(D) FH & I T
............. is an example of monetary incentive.
(A) Bonus
(B) Status
(C) Job-Security

(D) None of these

5609/(Set : A)/ I
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(13) 5609/(Set : A)

32. W= ¥ § H=9ARA ® qEH HH-AT 8 7 1
(A) i
(B) A
(€) fifea ud M
(D) afu=IRe
Which is the media of communication ?
(A) Written
(B) Verbal
(C) Written and Verbal

(D) Formal

33. = & @ SF-71 TG UikAT W T ToT & ¢ 1
(A) HEH
(B) HaST HTiehdl
(C) &Huw
(D) HesrErer
Which of the following is not an element of Communication Process ?
(A) Media
(B) Receiver
(C) Communication
(D) Decoding

5609/(Set : A)/ Il P.T.O.
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(14) 5609/(Set : A)
34, . ITAIEE IROM H IE=T Bl 1

(A) =

(B) M GO

(C) e gL

(D) SWFT |l

............... is an example of non-monetary incentive.
(A) Status

(B) Job Enrichment

(C) Job Security

(D) All of the above

35. 79 ¥ @ feh® IR P BT DA & 7 1
(A) TR
(B) HHeRi
(C) =%
(D) & & FK Tl
Which of the following is an example of durable product ?
(A) Furniture
(B) Candle
(C) Salt
(D) None of these

5609/(Set : A)/ I
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(15) 5609/(Set : A)

36. ‘sTaY fr= & | frwe SEET & ? 1
(A) SiS
(B) g -
(C) SR
(D) IWFT |l
'Dunlop' is an example of which of the following ?
(A) Brand
(B) Brand Name
(C) Branding

(D) All of the above

37. ‘Af Hm g W= 7 @ freew I § 7 1
(A)  uREET YT
(B) et YaHfHT
(C) faciiae YafstT
(D) SWF |l
'Shaving cream tube' is an example of which of the following ?
(A) Transportation packaging
(B) Primary packaging
(C) Secondary packaging
(D) All of the above

5609/(Set : A)/ Il P.T.O.
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(16) 5609/(Set : A)

38. oo, frqor ferameem, SuseRT BT W AR A ' (@rd & 9RT) 1

.............. concept of marketing, emphasis on Consumer Welfare.

(Fill in the blank)

39. T HUREl Ud =R &A@ & AT Bl ..o FEd 1
(A) I8 FEfA I
(B) & Frsa it
(C) @ Sl
(D) ST HIg TE
Difference between the current assets and current liabilities is called ..............
(A) Net working capital
(B) Gross working capital
(C) Fixed capital

(D) None of the above

40. CPM & QU &Y fdiau| 1

Write full form of CPM.

5609/(Set : A)/ I

Downloaded from cclchapter.com



CLASS : 12th (Sr. Secondary) Code No. 5609
Series : S.S.-March/2022
Roll No. SET : B

IS TSI
BUSINESS STUDIES
AT -1
PART -1
(st Tg)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 80 (AF-1 : 40, AFH-II : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-9= & AR # i ® : A1 (STES) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% X B AU IO YR # @ 81 99 -0 B OAFEL A BN W Ied S-gRas
3 e fRar o qor AE-1L % e SRl @ uw €2 Wy A Sen srafg wher s
BN & % geT qd qdemel S I 0 gs-0 Rar smem

-1 % 997-09 & F 14 U7 @& 9FHI & T9-T § FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § GRT T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.

5609/(Set : B)/ | P.T.O.
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(2) 5609/(Set : B)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & 7T FRa &
All questions are compulsory.
(i) HEOF T B 9fF 39% TET @9 T 8
Marks of each question are indicated against it.

(iii) Fo7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S FT &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.

5609/(Set : B)/ |
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(3) 5609/(Set : B)
(iv) o7 G 11 §F 12 & FT09 597 81 9% Fo7 4 o %7 &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 G 13 §F 14 &9 Fa0T F97 & 9% F97 6 STH F & T §77 AaRE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y I 999 ]
[ Very Short Answer Type Questions ]

1. AfEReT & ¥ & Ae SRy 2
State any two importance of Motivation.

2. feEr @ F & €M EEEy 2
Discuss any two limitations of Control.

3. “FEEYT T TEATE HE 817 qEERU 2
"Controlling is a pervasive function." Explain.

4. fqUue feor & el @ dwal & iR faeer it 2
Explain in brief any two elements of Marketing Mix.

5. fauue qur foep 4 18 & o= o 2
Write any two differences between Marketing and Selling.

6. ‘A dedl Mo W ok diea fewei fara 2
Write a short note on 'Investment Decision'.

7. g FEeE @ w® et B 7 2
What is meant by Financial Planning ?

8. ‘ydy uH YA 317 TD W H Fs gF O AW 2
"Management as a profession." Give any one argument in its favour.

9. Uy % His & A H o HioT 2

Explain any two functions of Management.

5609/(Set : B)/ | P.T.O.

Downloaded from cclchapter.com



10.

11.

12.

13.

14.

(4) 5609/(Set :

TR & 5 g ol # 98y § IaEy

Briefly state any two elements of 'Directing'.

[ @Y ST 9% ]
[ Short Answer Type Questions ]

AR & fFel e awdl H TR o i)

Explain in brief any four elements of Delegation.

e @t ufthar & fR-El g7e IO @ aUiH it

Explain any four steps in planning process.

[ €Y ST 99 ]

[ Long Answer Type Questions ]

FHAR T kAT & el & TN & o Pty

Explain any six steps involved in the process of selection of Employees.

YqT
OR

Tl 3 fheel & ST& Hidl @ 989 § e S

Explain in brief any six external sources of Recruitment.

TS & ST # e 989 § 99mEy

Explain briefly the importance of Management Principles.

3TeET
OR

T BT & el g7 sl &1 auie i

Explain any four principles of Henry Fayol.

5609/(Set : B)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5609
Series : S.S.-March/2022

Roll No. SET : B
D ST

BUSINESS STUDIES
AT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o U Tq F A [ G F 3T FIT-T § JET 7% 16 T 797 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff o1y T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § Fig 4 @@ &@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 art &

All questions are compulsory.

5609/(Set : B)/ I P.T.O.

Downloaded from cclchapter.com



(2) 5609/(Set : B)
(i) 797 &% 1 & 40 T TGS J97 & FAF FoT 1 o F & TE FAC HTA
gee-giar 4 e

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. T% Yo% Sevdl @l o A< AT el & 7 1
(A) FHAAT & (B) SwEqTiaT &
(C) FHATAT TaH FHEYern & (D) IR H & i el

How does a manager want to achieve his objectives ?

(A) Efficiently (B) Effectively
(C) Efficiently and Effectively (D) None of the above
2. FEHNE Ged § STgEaH H AwE = F 4§ feed § 7 1
(A) ¥ SUR H G
(B) -4 SR &l @IS
(C) faawer &t =g fafEt i s
(D) YT Gl

In the context of business what does research refer to ?
(A) Finding out new product

(B) Finding out new market

(C) Finding out new methods of distribution

(D) All of the above

5609/(Set : B)/ I
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(3) 5609/(Set : B)

3. /9 ¥ q fras fow frerr od uidwerr @ oliu=niRes aeer & T g ? 1
(A) TS (B) g
(C) ferfehean (D) Swiad qef

Which of the following has formalised methods of acquiring training and

experience ?

(A) Management (B) Law
(C) Medical (D) All of the above

4. ‘ggm UK & TeEE Y JERUeE € W A © 7 1
(a) = &) (B) #A &R
(C) = &R (D) T & P Tl

To which level of management do the 'Managers of first-line' belong ?

(A) Lower Level (B) Middle Level
(C) Top Level (D) None of these

5. TH9Y H GaY GG & 69 A b 9 © 7 1
(a) R (B) MwEA
(C) FgfeRTeRer, Fesm T FE (D) 3 § T+t

To what function of management is coordination associated with ?
(A) Planning (B) Organising

(C) Staffing, directing and controlling (D) All of these
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6. TEA B HF ........... 2l 1
(A) THRTR HH BT B T (B) forRametl 1 iR
(C) SR al (D) S § q HE e
Cooperation means ............ .
(A) Desire to work jointly (B) Determining activities
(C) Both of the above (D) None of the above
7. B A 5 dE & FABCT B AW Fel © 7 1
(A) BH BHEBO (B) A% HaIBL
(C) TAEYTl Rl (D) I BB
What type of centralization Fayol talk about ?
(A) Little centralization (B) More centralization
(C) Effective centralization (D) No centralization
8. BT BA 7 Uy & b R same € ? 1
(A) S (B) 14
(C) 16 (D) 20

How many principles of management have been given by 'Henry Fayol' ?

(A) S (B) 14
(C) 16 (D) 20
9. FM B T& TIH HITH T & B & a1 &1 § & fhe vovg § F2l T B 7 1
(A) TeTE(D B) =i
(C) S It (D) SWiad § § g el

Which of the following system of management talks about cheap and efficient
way of doing a job ?

(A) Administrative (B) Scientific
(C) Both of the above (D) None of the above
5609/(Set : B)/ I
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10. I Fa AT S 1

(A) |ITEE IRER

(B) oTfe aRac

(C) AR TRacH

(D) oirEfE aRad

Scientific management brings :

(A) Social change

(B) Economic change

(C) Mental change

(D) Industrial change

11. FEeH F ... Co I 1

(B) €EAl & 3o WM A

(C) Sl FAHREane |

(D) &= ¥

Planning results in decreasing ........... .
(A) Coordination

(B) Proper use of resources

(C) Future uncertainties

(D) Control
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12. 791 § § 39 Ioic H Qv 72 e ?

(A) € §H U&7 AT B

(B) Fic MANH & Th od ol

(C) Toe N Ty RS Ty =T & B

(D) e I2T T & &l

Which of the following is not the feature of Budget ?
(A) Budget creates illusion.

(B) Budget is an element of planning.

(C) Budget relates to planning and control.

(D) Budgets are objective oriented.

13. =1 & § f-a1 Fae & aa 78 ' ?

(a) (B) HEHA

(C) R (D) T
Which of the following is not an element of planning ?
(A) Rules (B) Programme
(C) Object (D) Staffing

14. M T Uik ®

(A) HHE®H (B) MR

(C) TS (D) a¥e®
Planning is a process :

(A) Periodic (B) Continuous
(C) Casual (D) Annual
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15. a9 .......... frareer 2 & 1
() fag (B) M
(C) oM (D) IR § & B el
Rules are .............. details.
(A) Special (B) General
(C) Uncommon (D) None of the above
16. fafr= ........ feeTt &1 FriS 8 Bl 1
(A) wa= (B) T
(C) URER STIfa (D) ST H q FF T
Planning of different department is .......... .
(A) Independent (B) Individual
(C) Mutually dependent (D) None of the above
17. T& & 7 dadl d A G § 9 B b ST Bl S o 7 1
(A) R (B) TR@rEH
(C) @A (D) TqET

Under what function of management the relationship between different posts

(positions) is explained ?

(A) Planning (B) Communication
(C) Organization (D) Supervision
5609/(Set : B)/ I P.T.O.
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18.

19.

20.

21.

(8) 5609/(Set :

e & ATl Hel el & °

(A) AR genstt J (B) IR-ga@iie denstt ¥
(C) SWe &1 | (D) SV § q 5 T&
Where lies the need of organization ?

(A) In business organization (B) In non-business organization
(C) In both of the above (D) None of the above
.......... He a1t ReR B Bl

() o= (B) SIT=R®

(C) SR (D) ST H | Hig TE
........... is more stable organization.

(A) Formal (B) Informal

(C) Both of the above (D) None of the above

e HET & (o Jwifig ureq 2 7

(&) @@ B) o

(C) = (D) #r FiveEd gen =&
How many standardized forms of organization structure are there ?
(A) Two (B) Three

(C) Four (D) No definite number
TSR T8 ol e Fed § 7

(A) IOGEEA (B) H¥HR

(C) SarEeel (D) T & &1 T
What is the key to managerial posts ?

(A) Responsibility (B) Authority

(C) Accountability (D) None of these
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22. WYY & 6T &9 B Hed o 7 1
(A) i (B) HRIB
(C) fawsiemtT (D) <M faomee
Extended form of delegation of authority is called :
(A) Specialization (B) Centralization
(C) Decentralization (D) Division of labour

23. [GFRIHTOT Jaeg SR B .. X B 1
(A) o (B) fadi
(©) T (D) =g
Staffing is the ........... stage of management process.
(A) First (B) Second
(C) Third (D) Fourth

24. 9 R ... q IR Bl B 1
(A) TSI (B) ST
(C) eIl & A (D) 3TE% AN Bl AT
Recruitment process starts with ........... .
(A) Strike (B) Lock out
(C) Demand of employees (D) Invitation to interested people

25. I3 9 T & ufE § 7 1
(A) TR (B) RIS
(C) TEHH (D) TOTHS
What type of process selection is ?
(A) Positive (B) Negative
(C) Qualitative (D) Quantitative

5609/(Set : B)/ I P.T.O.
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26. ‘URET = B ... % |Y ST S B 1
(A) SR (B) ftwht
(C) R (D) et g s
The word 'Training' is associated with ............... .
(A) Managers (B) Workers
(C) Supervisors (D) Swupervisors & Workers
27. [ESF ey BRI A L T B 1
(A)  HedTl (B) &0
(C) drEw (D) e
Direction is the .......... stage of management process.
(A) First (B) Second
(C) Third (D) Fourth
28. THAHT H qdqEh g AL b AH ... Ty B Bl 1
(A) T H (B) eIl
(C) SHA-|EA I (D) & & TN
In supervision there is a ............. relationship between the supervisor and the
subordinates.
(A) Distant (B) Close
(C) Face to face (D) Almost nothing (Nil)
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29. IRERET § ‘FHEr MErE ¥ § Fr A ® ? 1
(Aa) B) I
(C) e (D) AR

What out of the following happens in case of 'employees turnover' with the help

of motivation ?

(A) Reduction (B) Increase
(C) Stability (D) Instability
30. SAREROT &t whem H ... e 787 2l 1
(A)  STE (B) fciishan
(C) T (D) ATl
.......... is not included in motivation process.
(A) Needs (B) Feedback
(C) Tension (D) Action
31. M= & @ 9@ @ FAwar aE-d © ? 1
(A) SRR HfhAT (B) R fadivand
(C) & (D) GeEfTeeT

Which of the following is the characteristic of leadership ?

(A) Influencing process (B) Physical features
(C) Knowledge (D) Integrity
5609/(Set : B)/ Il P.T.O.
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32. ‘GG P HE’ TaEET B T T § HE-GF S1e7 T 7 1

(A) T G

(B) HEATHSD

(C) HISH®

(D) aAfRFIT

'Lack of attention' — what type of communication barrier is it ?
(A) Semantic

(B) Emotional

(C) Organizational

(D) Personal

33. Th HISH H PR HET Y & 1
(A) 98 &
(B) STl 3@
(C) o & g U8 <@
(D) ST H § HiE TE
Control function of an organization is :
(A) Forward looking
(B) Backward looking
(C) Forward as well as backward looking
(D) None of the above
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34, FREAT .......... q gefaa B 1

Controlling is related to ........... .
(A) Results

(B) Individuals

(C) Things

(D) Managers

35. for & d@ed # H9-W@ Tt 949 B ? 1
(A) T ST ol
(B) YalfeR 3isr Goft
(CRER
(D) & & g T
What capital is better with reference to control ?
(A) Equity share capital
(B) Preference share capital
(C) Debt capital
(D) None of these

5609/(Set : B)/ Il P.T.O.
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36. FHEA Yol A BNl § 7 1
(A) ¥ HT A & [T
(B) e %T HA & [T
(C) b =t B PN F [
(D) M %F & & T
Why is working capital important ?
(A) To buy land
(B) To buy building
(C) To make payment for routine expenses

(D) To buy machine

37. ag] MY & R o & .. R o & S R 1

(C) fauom

(D) S|

With the onset of the thought of producing a thing the process of ......... starts.
(A) Buying

(B) Selling

(C) Marketing

(D) Producing
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38. fagme & fo@ .......... & BT STATSH B 1

............... is compulsory for advertisements.
(A) Expenditure

(B) Effort

(C) Both of the above

(D) Television

39, .o ¥ deel # gid e B B 1
(A) fasmaE
(B) @I fasha
(C) fespa Hasd
(D) T=X
............ removes doubts immediately.
(A) Advertisement
(B) Personal selling
(C) Sales promotion
(D) Publicity

5609/(Set : B)/ Il P.T.O.
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40. = ¥ § fppg dass a=-d1 & ? 1

(A) &
(B) erdl

(C) U= T

(D) SWF |l

Which of the following is a sales promotion activity ?
(A) Rebate

(B) Discount

(C) Product combination

(D) All of the above
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% X B AU IO YR # @ 81 99 -0 B OAFEL A BN W Ied S-gRas
3 e fRar o qor AE-1L % e SRl @ uw €2 Wy A Sen srafg wher s
BN & % geT qd qdemel S I 0 gs-0 Rar smem

-1 % 997-09 & F 14 U7 @& 9FHI & T9-T § FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § GRT T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.
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(2) 5609/(Set : C)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & 7T FRa &
All questions are compulsory.
(i) HEOF T B 9fF 39% TET @9 T 8
Marks of each question are indicated against it.

(iii) Fo7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S FT &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.
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(iv) o7 G 11 §F 12 & FT09 597 81 9% Fo7 4 o %7 &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 G 13 §F 14 &9 Fa0T F97 & 9% F97 6 STH F & T §77 AaRE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y I 999 ]
[ Very Short Answer Type Questions ]

1. “Gdfg o Y0 217 3% T F F gF O Al 2
"Management as a profession." Give any one argument in its favour.

2. ydY % %His & A H AU HiC 2
Explain any two functions of Management.

3. ‘s’ & Fedl @ o<l ®l HEY § Jau 2
Briefly state any two elements of 'Directing'.

4. HARLROT % HI3 & Hew™ AU 2
State any two importance of Motivation.

5. fyeEmr it A & den aEmEy 2
Discuss any two limitations of Control.

6. ‘R Tk TEAE HE 817 qHERU 2
"Controlling is a pervasive function." Explain.

7. Qoo W & Bl @l B diRr faerer AR 2
Explain in brief any two elements of Marketing Mix.

8. fauue qur fosk § 13 & o= fafw 2
Write any two differences between Marketing and Selling.

9. ‘Mas geet fofy’ W s wfgr feael fafaw 2

Write a short note on 'Investment Decision'.
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10.

11.

12.

13.

14.

(4) 5609/(Set
foriig frae @ @ i 2 °

What is meant by Financial Planning ?

[ @Y ST 997 ]
[ Short Answer Type Questions ]

e @ ufthar & fFEl gre T=eN @ aui it

Explain any four steps in planning process.

AR & Bl e adl &1 G o i)

Explain in brief any four elements of Delegation.

[ € ST 999 ]

[ Long Answer Type Questions ]

BT WA & el &7y Tl bl avie it

Explain any four principles of Henry Fayol.

YqT
OR

TS & STl P o™ 989 H g9El

Explain briefly the importance of Management Principles.

Wil & el & 9T Eidl d ey H e i

Explain in brief any six external sources of Recruitment.

3TeET
OR

HHR T U & bl & TR & aui iy

Explain any six steps involved in the process of selection of Employees.

5609/(Set : C)/ |
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[ o=l wd sl A |
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o U Tq F A [ G F 3T FIT-T § JET 7% 16 T 797 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff o1y T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § Fig 4 @@ &@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 art &

All questions are compulsory.
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(i) 797 &% 1 & 40 T TGS J97 & FAF FoT 1 o F & TE I HTA
gee-giar 4 e

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. Yev 7 gHiRad e 8 ? 1

(A) TSFIR STEX J&M HE

(B) T & IAIC TG

(C) TETEAT &I HAfhTH ITT

(D)« R FE=ra &

Management ensures :

(A) Providing employment opportunities
(B) Maintaining profit

(C) Maximum utilization of resources

(D) Reducing the cost

2. U9 T 1
(A) T FRAT (B) UH Yfsham
(C) TH JTUA (D) T ¥9

Management is :
(A) An activity (B) A process

(C) A tradition (D) An illusion
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3. fhe 39 ¥ yerg &1 AX & w9 7 R e o g 7 1
(A)  ITHRH
(B) S
(C) wRqa
(D) STARE T4 S
Name the country in which Management is accepted as profession ?
(A) America
(B) Japan
(C) India

(D) America & Japan

4. ‘HB HT Y Ted T GG & e B H R S & 7 1
(A)  FE=
(B) &=
(C) &S
(D) S
'Thinking before doing' under which function of management is this performed ?
(A) Controlling
(B) Directing
(C) Organizing
(D) Planning

5609/(Set : C)/ Il P.T.O.
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5. “O9ag YS9 & Pis T HE 7ol 8 gk g8 ot Tt HE H i 9 31 - T P
g gast & el T R 7 1

(A) THET YS9 H HX B

(B) TH<Y @a: T el =il

(C) =T T MR- 9 & aril 4ihar ol
(D) ¥ & P T

"Coordination is not a separate function of management but it happens to be

the final truth of all functions." In what context this observation has been

made ?

(A) Coordination is the essence of management.

(B) Coordination is not established automatically.
(C) Coordination is a continuously moving process.

(D) None of these

6. I TN T FHAL ..o 2| 1
()
(B) UEigarE
€) T*
(D) SYer @l
The words 'Cooperation' and 'Coordination' are .......... .
(A) Opposite
(B) Synonym

(C) Complementary
(D) All of the above

5609/(Set : C)/ I
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7. T A F UST H -6 R & § 7 1
(A) STQY H THaT & (S
(B) oAf¥haH IR H Ha
(C) Tieamedr & ©M W oM & WM &1 s
(D) 3™ & F3 Tl

What principle of management has been given by Henry Fayol ?

(A) Principle of unity of command
(B) Principle of optimum production
(C) Principle of using science instead of rule of thumb

(D) None of these

8. WY % fu=Td F@l @ e © ° 1
(A) g a7 o
(B) -y & 4
(C) (A) @ (B) I §
(D) e & <T@
Where are the principles of management applicable ?
(A) In the field of business
(B) In the non-business field
(C) In both (A) & (B)
(D) None of these

9. ISTF U & ARG = H | HI-|1 FEHIT g A S © 7 1
(A) T T (B) 9 1eqgA
(C) 9H°T A&IA (D) g I
Which study is not done under scientific management ?
(A) Motion study (B) Profit study
(C) Time study (D) Fatigue study
5609/(Set : C)/ I P.T.O.
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10. H-H Yoy een FfRrdwer # IRE qew s w7l § 7 1

INBEEIRER R

(B) TSI T

(C) S &l

(D) ST F & Fi3 T

Which system of management gives due importance to 'Specialization' ?

(A) Scientific management

(B) Administrative management

(C) Both of the above

(D) None of the above

11. e ... % gia § TEw ol 1

(B) @I

(C) RIS

(D) ®E &

Planning is helpful in increasing ............. .
(A) Cost

(B) Loss

(C) Efficiency

(D) None

5609/(Set : C)/ I
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12. $H-d e &t g 7272 ?
(A) =W @& B §
(B) & ® IewiEd TSI Bl &
(C) % # yw Ues® BAar 2
(D) &9 T SR & AR Bl &

Which one is not the characteristics of rules ?
(A) Rules are rigid

(B) Violation of rules is punishable

(C) Following of rule is voluntary

(D) Rule is a sort of order

13. RS ... &I B

(4)  wrE (B) i

(©) 3¢ (D) TUUH & | HiE T

Planning is ........ !

(A) Flexible (B) Stable

(C) Rigid (D) None of the above
14. FESH 9979 & ... F 2

(A) et (B) T

(C) dm (D) e

Planning is the ......... function of management.

(A) First (B) Second

(C) Third (D) Fourth
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15. FRESH & a8 oo |
(A) "TwEH (B) f=m
(C) @A (D) e
.......... is the essence of planning.
(A) Organising (B) Controlling
(C) Forecasting (D) Directing
16, .coooene. el T BRI B QU A & faegd e &l B
(A) Ry (B) 9T
(C) e (D) wsfhy

............ gives a complete detail of doing a particular activity.
rocedure udget
A) P d (B) Budg

(C) Programme (D) Method

17. SH-61 S erdl SHged] id {61 St 8 7
(A) Slu=iRe (B) SMIw=R®
(©) (&) T (B) (D) g T
Which organization structure is consciously or deliberately established ?
(A) Formal (B) Informal

(C) Both (A) & (B) (D) None

5609/(Set : C)/ I
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18. /=1 & § HH-91 e T 999 % Tl 8 ° 1
() ST B) Refema
(C) SREd ael (D) SMI=RE

Which of the following organization lasts longer ?

(A) Formal (B) Divisional
(C) Both of the above (D) Informal
19. M= & § H-8 @A % TH 787 & ? 1
(A) TH AT (B) @@ e
(C) "= (D) T F TH T

Which one of the following is not a nature of organization ?

(A) One person (B) Work division
(C) Co-ordination (D) A part of management
20. T% I @R & oFdiF ordiaefl &t wen Feand © 1
(A) FEET rAEI (B) @Sl M=
(C) Y&+ H fa&) (D) @+ Ear

Number of sub-ordinates under a superior is called :

(A) Office environment (B) Strict control
(C) Span of management (D) Scalar chain
5609/(Set : C)/ Il P.T.O.
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21.

22.

23.

24.

(10) 5609/(Set
TAEE B9 S el 8 7

(A) FAERIE o | (B) S o &
(C) (A) T (B) &M 9 (D) el | T
How is accountability created ?

(A) By assigning responsibility (B) By assigning authority
(C) Both (A) & (B) (D) None of these
Fret & & fpee &5 e & 7

(A) =79 (B) FHrsiieBaT

(C) TamstiBTeT (D) ARG

Which of the following has a wider scope ?

(A) Management (B) Centralization
(C) Decentralization (D) Delegation
FrgfeeReeT @ Gy fhd STRaE § © 7

(A) TR (B) eI

(C) N (D) eARFT

With what responsibility is staffing related to ?

(A) Social (B) Political

(C) Government (D) Individual
Tl TH .o gfsRaT B

(A) GDPNIHD (B) ¥ANIHS

(C) TrmcHD (D) OHIHSD
Recruitment is a ............ process.

(A) Positive (B) Negative

(C) Qualitative (D) Quantitative

5609/(Set : C)/ I
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25. T hAT 1 YT TR HiN-91 § 7 1
(A) TET TN (B) S W@
(C) sty St (D) =a= ol

What is the first step in the process of selection ?

(A) Selection tests (B) Job offer
(C) Preliminary screening (D) Selection decision

26. ......... P q T R § et § 1
(A) & AFIA (B) YT Yol
(©) (A) T (B) A (D) ¥ & B T

.............. is included in off-the-job-training.

(A) Case study (B) Lecture method
(C) Both (A) & (B) (D) None of these
27. e e & qnfiret 7 21 1

(a) fEo (B) gd
(C) EasrETR (D)  STREIRET
.......... is not included in Directing.
(A) Planning (B) Leadership
(C) Communication (D) Motivation

5609/(Set : C)/ I P.T.O.
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28.

29.

30.

(12) 5609/(Set

e e § | o gied &< 8 ?
(A)  gEE 9SO GHREd He

(B) o= & e
(C) SUad I
(D) s e

What out of the following does supervision ensure ?
(A) Ensures issuing instructions

(B) Facilitates control

(C) Both of the above

(D) Industrial conflicts

(A)  HHRHSD (B) RIS
(C) UHNIHE 9 THRIHD (D) HE&AHSR

The characteristic of motivation happens to be .......... .

(A) Positive (B) Negative

(C) Positive and Negative (D) Quantitative
RRE AR H .o Rl Qi AT ST B

(A) ST (B)

(C) a= (D) S |l
Physiological needs include ........... .

(A) Food (B) House

(C) Cloths (D) All of the above
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31, M H A TB IS [T -4 o 7 1
(A) TS &H (B) SATH{aLATd
(C) feyorfaremen (D) 39 q+fi

Which of the following is the characteristics of a good leader ?

(A) Initiative (B) Self-confidence
(C) Decisiveness (D) All of the above
32. ‘TSN H TG AT HeIERA B T § § HE-G el 7 1
(A) T HEE (B) &S
(C) WA (D) @R

'Wrong interpretation of message' what type of communication barrier is it ?

(A) Semantic (B) Emotional
(C) Organizational (D) Personal
33. [T geE A ... FE B 1

(A) T&H (B) faxia
(C) i (D) sffem
Controlling is the ........... function of management.
(A) First (B) Second
(C) Third (D) Last

5609/(Set : C)/ Il P.T.O.
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34. =T % TH BP9 TR @ 7 7 1
(A) TRNIHD T
(B) STRIIHS 8]
(C) S &l
(D) ST H | HiE TE
What type of nature the control has ?
(A) Positive approach
(B) Negative approach
(C) Both of the above

(D) None of the above

35. TS & HH-H1 T& Fel Sl © 7 1
(A) HEAHH TEq
(B) ToEHF Teq
(C) (A) T (B) &
(D) & § PI§ T
What aspect the capitalization is called ?
(A) Quantitative
(B) Qualitative
(C) Both (A) & (B)
(D) None of these

5609/(Set : C)/ I
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36. TSI H SEN W TEN B STEIHRA B . eI 1
() e B) 9
(C) A (D) <&d HH

Use of machines makes the use of fixed capital .......... .

(A) More (B) Nil
(C) Less (D) Very little

37. UBH TR & .ooovvnnn B Bl 1
(A) =T (B) X
(C) =ed (D) fahen
Customer is the ............... of the market.
(A) King (B) Servant
(C) Sympathiser (D) Seller

38. ..ooee.. fTa &1 @ B 1
(A) s g (B) 9 STt
(C)  ecfrerha (D) wfgfe @ aw@
................ is an advantage of advertisement.
(A) Better reach (B) Less effective
(C) Rigidity (D) Lack of feedback

5609/(Set : C)/ I P.T.O.
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39. = § @ Susiadel & fdvs dae fhes oidid & ST gl ® ?

(A) X (B) fe=ma

(C) fompa Taw (D) =R e

Which of the following can offer expert opinion to the consumers ?

(A) Publicity (B) Advertisement

(C) Sales promotion (D) Personal selling
40. fFT HasT ... F GEl I F FEEE o

() fosme (B) =fFa fsra

(C) IR Al (D) ¥ER

Sales promotion is helpful in making ............... effective.

(A) Advertisement (B) Personal selling

(C) Both of the above (D) Publicity

5609/(Set : C)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5609
Series : S.S.-March/2022
Roll No. SET : D

IS TSI
BUSINESS STUDIES
AT -1
PART -1
(st Tg)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 80 (AF-1 : 40, AFH-II : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-9= & AR # i ® : A1 (STES) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% X B AU IO YR # @ 81 99 -0 B OAFEL A BN W Ied S-gRas
3 e fRar o qor AE-1L % e SRl @ uw €2 Wy A Sen srafg wher s
BN & % geT qd qdemel S I 0 gs-0 Rar smem

-1 % 997-09 & F 14 U7 @& 9FHI & T9-T § FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § GRT T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.
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(2) 5609/(Set : D)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & 7T FRa &
All questions are compulsory.
(i) HEOF T B 9fF 39% TET @9 T 8
Marks of each question are indicated against it.

(iii) Fo7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S FT &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.
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(3) 5609/(Set : D)
(iv) o7 G 11 §F 12 & FT09 597 81 9% Fo7 4 o %7 &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 G 13 §F 14 &9 Fa0T F97 & 9% F97 6 STH F & T §77 AaRE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y I 999 ]
[ Very Short Answer Type Questions ]

1. Ruoe qen foska & i3 & o= fafau 2
Write any two differences between Marketing and Selling.

2. ‘Mag gEdt Mo @@ o | el i 2
Write a short note on 'Investment Decision'.

3. focia Frle @ &/ ot & 7 2
What is meant by Financial Planning ?

4. ‘gdg o YA 217 TS T H Fs 0F 0D A 2
"Management as a profession." Give any one argument in its favour.

5. wdg & HI3 & FA H IO i 2
Explain any two functions of Management.

6. ‘FES & el & o<l ®l HEU § Jamy 2
Briefly state any two elements of 'Directing'.

7. ARLROT % H13 & Hew™ TR 2
State any two importance of Motivation.

8. e @l FE & €im TRy 2
Discuss any two limitations of Control.

9. ‘PRI UF TIATE B 17 THHEY 2

"Controlling is a pervasive function." Explain.

5609/(Set : D)/ | P.T.O.
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10.

11.

12.

13.

14.

(4) 5609/(Set :

fquer fyeror & fheel @ oAl a1 G faEer i

Explain in brief any two elements of Marketing Mix.

[ @Y ST 997 ]
[ Short Answer Type Questions ]

AR & fFel e awdl H TR o i)

Explain in brief any four elements of Delegation.

e @t ufthar & fR-El g7e IO @ aUiH it

Explain any four steps in planning process.

[ €Y ST 99 ]

[ Long Answer Type Questions ]

FHAR T kAT & el & TN & o Pty

Explain any six steps involved in the process of selection of Employees.

YqT
OR

Tl 3 fheel & ST& Hidl @ 989 § e S

Explain in brief any six external sources of Recruitment.

TS & ST # e 989 § 99EmEy

Explain briefly the importance of Management Principles.

3TeET
OR

T BT & el g7 sl &1 auie i

Explain any four principles of Henry Fayol.

5609/(Set : D)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5609
Series : S.S.-March/2022

Roll No. SET : D
D ST

BUSINESS STUDIES
AT - 11
PART - II

(e )
(Objective Questions)
ACADEMIC/OPEN
[ &=t T el A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUF FT BT A B G % 5 9799 § GRT JT 16 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o ghereff o1y U To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 {7 T Fel 8, YT F YU 39
T 7 g 4 arar w@hwe T8 RAr a3

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ geT et &

All questions are compulsory.
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(2) 5609/(Set : D)
(i) 97 FF%F 1 @ 40 TF JEGTC Jo7 81 F9F FoT 1 G FH 81 FE IAC G
gee-giar 4 e

Questions from 1 to 40 are objective type questions. Each question carries
1 mark. Write correct answer in your answer-book.

1. 5698 : 1
(A) TH T (B) TH WA
(C) T U (D) T fpa
Management is :
(A) A Tradition (B) An Illusion
(C) A Process (D) An Activity

2. U% g% I5ed Bl dU A< B A6l © 7 1
(A)  HHEYCRT @ (B) I &
(C) T T SHEYerar | (D) @ e
How does a Manager want to achieve his objectives ?
(A) Effectively (B) Efficiently
(C) Effectively & Efficiently (D) None

3. ‘g Ul & UeEE R TeEHE ' W A © ° 1

(A) F=F T (B) A &
(€) = &R (D) forEll oX &
To which level of management do the managers of first-line belong ?
(A) Top Level (B) Middle Level
(C) Lower Level (D) None of these

5609/(Set : D)/ I

Downloaded from cclchapter.com



(3) 5609/(Set : D)

4. ‘FB HE § T T 6T & 69 FA T A o B 7 1
() e (B) @A
(C) TR (D) =T

'Thinking before doing' under which function of management is this
performed ?

(A) Planning (B) Organising
(C) Directing (D) Controlling
5. 9 WA Ud GEAT THGEAL B ..o 2l 1
(A) T
(B) T
(C) faE
(D) & & P T

The word 'Cooperation' and 'Coordination' each other are .............. .
(A) Synonym

(B) Complementary

(C) Opposite

(D) None of these

6. U H HaY YT & G B & Y © 7 1
(A) e (B) e
(C) TRt (D) 9 & 9@
To what function of management is coordination associated with ?
(A) Planning (B) Organising
(C) Staffing (D) All of these
5609/(Set : D)/ I P.T.O.
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7. B0 AN A e % fhen R sane € 7
(A) 10 B) 12
(C) 14 (D) 16
How many principles of Management have been given by 'Henry Fayol' ?
(A) 10 B) 12

(C) 14 (D) 16

8. M= & § #IF-|1 &0 Al & USY & e 78 © ¢
INEERRERIER]
(B) fadarers worgh
(C) W ~fen
(D) |
Which one is not the Henry Fayol's principle of management ?
(A) Division of work
(B) Differential wages
(C) Scalar chain

(D) Equity

9. I 7 sl yd 3 # a1 FHel & 7

(A) AW (B) HH wd AR

() fafemrt (D) 3 g

What did Taylor want to standardize ?

(A) Material (B) Machine and Tools
(C) Methods (D) All of these

5609/(Set : D)/ I
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10. s See AT S 1
(A)  HHIo gREd
(B) e gRecH
(C) HHiYeh TRee
(D) SR aRecs
Scientific management brings :
(A) Social change
(B) Economic change
(C) Mental change

(D) Industrial change

11, PR gl 1
(A) e (B)
© T (D) g T
Planning is ............. .
(A) Flexible (B) Stable
(C) Rigid (D) None

12. FROSH & o FH AN B 1
(a) " A (B) Al & Sfd IwErT |
(C) wm&t STHfYadaret (D) =T
Planning results in decreasing .............. .
(A) Coordination (B) Proper use of resources
(C) Future uncertainties (D) Control

5609/(Set : D)/ I P.T.O.
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13.

14.

15.

16.

(6) 5609/(Set :

fr=r & @ oru 59 g @ HifeEt @ fawia #@ ® 7

(A) & (B) ™

(©) ari (D) @ T

Which out of following policies will you recommend ?
(A) Strict (B) Lenient
(C) Both (D) None

e ufhar @l %9 STREr fhar o b © ?

(a) e R & (B) ofd Refy #

(C) ST I+l A (D) forell Rafq & =&
When can the planning process be ignored ?

(A) In ordinary situation (B) In case of emergency
(C) In Both of the above (D) Not any situation

faT e i a e Watsgaa s ?

(A) T (B) IR

(C) BRI (D) Frm
What out of the following is the focus of planning ?

(A) Budget (B) Objectives
(C) Programme (D) Rules
To1e &t faQwa 78 ®

(A) T9€ 99 YaT AT Bl
(B) ic MANH & U6 od ol
(C) 9 & oy fae Td e & R

(D) T IR TH 2 ol

5609/(Set : D)/ I
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It is not the feature of budget :

(A) Budget creates illusion
(B) Budget is an element of planning
(C) Budget relates to planning & control

(D) Budgets are object oriented

17. @Ted gRad J Fr=1 § & @ foran o 8 7 1
(A) FT BT S & ?
(B) o &= SE ?
(C) TTeT & |
(D) T T & ¥R 9 STRaEad
Which of the following is written in the organisation manual ?
(A) Goods purchased
(B) Goods sold
(C) Meeting of organisation

(D) Authority and responsibility of different posts

18. TS & Heg Tel Bl AT T8Y B [hg HE B SIAIT B A & ° 1
(A) s (B) &
(C) fesH (D) PR

Under what function of management the relationship between different posts
(positions) is explained ?

(A) Planning (B) Organising
(C) Directing (D) Controlling
5609/(Set : D)/ I P.T.O.

Downloaded from cclchapter.com



19.

21.

(8) 5609/(Set :

Fret & & ofivenies €@eq & o #i9-9 & ?

(A)  HETES TS

(B) @ HTed

(C) @I Uaq W% HIe

(D) Suer @l

Which of the following are parts of formal organisation ?
(A) Functional organisation

(B) Line organisation

(C) Line & Staff organisation

(D) All of the above

. P TET & AN e, R W R S R
(A) = (B) A
(C) F (D) @
Functional organisation is used at .............. level.
(A) Top Level (B) Middle Level
(C) Lower Level (D) Al

ARHR AT &1 TR 1 & 7
(A)  BaIBIT

(B) fadbsimTer

(C) (A) T (B) I

(D) =¥ fqHH

5609/(Set : D)/ I
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What is the basis of delegation of authority ?

(A) Centralization
(B) Decentralization
(C) Both (A) and (B)

(D) Division of Labour

22. Nl & wew@ § gis H Al AT FHeAr | 1
(A)  HEIBTT
(B) T
(C) Taehwsiierer
(D) w&am

Every thing that goes to increase the importance of subordinates is called :
(A) Centralization

(B) Delegation of authority

(C) Decentralization

(D) Cooperation

23. FHHAME H @6 § IRFET HEW B Fd © 1
(A) A=
(B) HHSIHTOT
(C) U At

(D) & YT T

Introducing employees to the organisation is called :

(A) Orientation (B) Socialisation
(C) Both of the above (D) Placement
5609/(Set : D)/ Il P.T.O.
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24. = & | FYRRHTT B T HE-A1 5 7

(A) (B) =&

(C) wifrerT (D)  SuiE @
Which of the following is the element of staffing ?

(A) Recruitment (B) Selection

(C) Training (D) All of the above

25. Wl 3 9 o § i ®
(A)  fasmE
(B) USFIR A
(C) (A) T (B) I
(D) & q Hig T
External source of recruitment is included :
(A) Advertisement
(B) Employment Exchange
(C) Both (A) & (B)

(D) None of these

26. AT FIET H ... I & S
(A) St H TH (B) SEETE
(C) D) @h
Contract of employment contains .............. information.
(A) Job Title (B) Responsibilities
(C) Allowances (D) Al

5609/(Set : D)/ I
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27. MM & .. it et B 1
(A) P (B) q
(C) HwgEmwEd (D)  STREROT
.............. is not included in directing.
(A) Planning (B) Leadership
(C) Communication (D) Motivation
28. = & @ 3N 7e gHREd & & % M aifed wid & = @ & ofear T 7 1
() fEee (B) wTeH
(C) HEmEd (D) ggaET

Which of the following ensures that the work is progressing at the desired
speed or not ?

(A) Planning (B) Organising
(C) Communication (D) Supervision
29. HfEH IO H IF\MEIT & : 1
(A) 9| (B) W&
(C) ™ TG~ (D) &ar gL
Example of monetary motivation :
(A) Bonus (B) Status
(C) Job Enrichment (D) Job Security
30. UEgH + A ANAA = ..o | 1
(A) @I (B) g4
(C) Hetcl (D)  STEEHRIC
5609/(Set : D)/ Il P.T.O.
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Manager + Leadership ability = .............. .

(A) Loss (B) Nothing (Zero)

(C) Success (D) Failure

31. SFTUWA SR ... Hl IAET &l

.............. is an example of grapevine network.
(A) Single standard

(B) Gossip chain

(C) Both of the above

(D) Circular

32. W B AT @R § F1 S § ?

(A) Hfdees (B) faw

(©) (D) Fréw

What is included in upward communication ?

(A) Reports (B) Rules

(C) Information (D) Instructions

33. .o, JIY I @ e B
() e (B) T
(C) fp& q =Bl (D) =™

5609/(Set : D)/ I
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.............. standard is associated with production.
(A) Quality

(B) Quantity

(C) Quality and Quantity

(D) Labour

34. CPM H&aER & 9 &Y [ 1

Write full form of the abbreviation CPM.

35. W gREl § fatEn @6 B L Fed &l 1
(A)  FET o T
(B) Toft et
(C) forcememen & Mol
(D) & & g T
Fixed assets investment decision is called .............. .
(A) Management of working capital
(B) Capital Budgeting
(C) Financing Decision

(D) None of these

5609/(Set : D)/ Il P.T.O.
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36. =1 o § fpl =g weairdl o anfrer 78 e ot 8 7
(A) & IRT
(B) &g
(C) TR
(D) T fafwEeT

Which of the following is not included in current assets ?
(A) Cash

(B) Stock

(C) Debtor

(D) Long term investment

37. [UOF e & -6y ... &I B

(D) SRS &l A

The central point of the marketing point of view is .............. .
(A) Customer's satisfaction

(B) Customer's welfare

(C) Quality of the product

(D) Quantity of product

5609/(Set : D)/ I
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38. fasiae &1 @ & :
() oI Tgd
(B) @Y STt
(C) STl

(D) icgiee &1 e

An advantage of advertisement :
(A) Better reach
(B) Less effective
(C) Rigidity
(D) Lack of feedback
39. .o, ¥ g Ao ool
(A) T=EX
(B) fe=ma
(C) fespa Hasd
(D) AR fasha
.............. makes flexibility available.
(A) Publicity
(B) Advertisement
(C) Sales promotion

(D) Personal selling

5609/(Set : D)/ I
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40. ‘SR gfed W fod &M wEr e d 4 Reea iy B ? 1
(A) fasaE
(B) @ fesha
(C) faspa Tagds

(D) HER

'Providing finance at zero percent' which of the following adopt this method ?
(A) Advertisement

(B) Personal selling

(C) Sales promotion

(D) Publicity

5609/(Set : D)/ I
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